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1 2. .
A rectangular prism has a volume of 3 m?, a length of 30 cm, and a width of 40 cm. What is ‘(‘::uig!ﬁl-‘;“";;‘;l &quals
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Jill swam 200 meters in 2 minutes 42 seconds, If each lap is 50 meters long, which time is her | What is the product of 7x - 4 and 8x + 5?

estimated time, in seconds, per lap?
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9. 10.

The expression s” is used to calculate the area of a square, where s is the side length of the A modet of a house is shown.
square. What does the expression (8x)* represent?
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A. the area of a square with a side length of 8

B. the area of a square with a side length of 16
C. the area of a square with a side length of 4x | +3
@the arca of a square with a side length of 8x
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T C— What is the perimeter. in units, of the model?
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Which expression has the same value as the expression (8x? + 2x - 695):? -3x+2)?| Simplify the following expression: \//@F
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A rectangle has ',jl ls:‘nglh of 14 meters and a width of 200 centimeters. What is the area of the

. ) Which answer choice is equivalent Lo the expression?
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A plumber charges a Hat fee tor each job. plus an hourly rate tor the number of hours the job
15. takes to complete. The total cost of the job. in dollars can be modeled by the cxpression@
65x. What does the{ c:0:us§am te_r_g]m the expression represent in this situation?

@The flat fee
B. The number of jobs
C. The cost per hour
D. The number of hours the job takes to complete




